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Name :
Q.No. Questions Mark
MULTIPLE CHOICE QUESTIONS
(Choose the correct answer from the given options)

1 How many radii does a circle have? 1
a. 1
b. 2
c. Limited number
d. Innumerable

2 How many edges are there in a cube? 1
a. 2
b. 6
c. 8
d. 12

3 Which solid has 2 edges, 3 faces and no corners? 1
a. Cylinder
b. Cube
c. Cone
d. Cuboid

4 Identify the tile used in the following tiling: 1

a. J b \ f c. : d.

5 Identify the number: Eight thousand three hundred two 1
a. 8320
b. 8302
c. 8203
d. 8322

6 The place value of 6 in 5678 is: 1




a. 6000
b. 600
c. 100
d. 6

The successor of 3999 is:
a. 4000
b. 3998
c. 3988
d. 4001

The smallest number formed using the digits 3, 0, 6 and 1 is:
a. 3061
b. 1036
c. 0136
d. 6310

Product of 65 and 5 is:
a. 325
b. 320
c. 70
d. 60

10

Product of 46 and 100 is:
a. 460
b. 4600
c. 6400
d. 640

11

Find out the productin 3 X 2 = 6 is:
a 3
b. 2
c. 6
d. none of the above

12

Which of the following is not a multiplication fact of 15
a. 3x5=15
b. 5x3=15
c. 5x2=10
d 15x1=15

FILL IN THE BLANK

13

Aspherehas........... faces.

14

The distance from the centre to any point on the circle is called

15

The face value of 3in 3987 s ..............

16

Add
Th H T O

A

17

Write the next number in the pattern:
6540, 6550, 6560, ...............

YES OR NO




18 The diameter of a circle with radius 3cm is 5¢cm.
19 The predecessor of 8000 is 7999.
20 4isafactorin3 x4 =12
VERY SHORT ANSWER TYPE QUESTIONS
21 Draw a circle with radius 2cm.
22 Write the number of edges and corners of a cylinder.
23 Write the number and the number name:
ThHT O

24 Write the expanded form of the number 4038 in figures and in words.
25 The one multiplication fact for the given dotsis ..................
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SHORT ANSWER TYPE QUESTIONS
26 Hazel buys tomatoes from the wholesale market for her company that makes
jams. She pays 365 rupees in advance and pays 5265 rupees after the tomatoes
are delivered. How much does she pay in all?
27 Find the product of 34 and 12.
LONG ANSWER TYPE QUESTION

28 In a sanctuary, deer have been put in groups of 16 each. There are 123 such

groups. Find how many deer are there in the sanctuary?




